IITPAL - SWAYAM
‘Tips and Tricks:
‘Tip-1.
. Area of. a triangle .
If A(x,y), B(x,,y.) and C(x,,y.) are the vertices of a triangle

thenits areais:

115 % 1
Areaof AABC = 2% Y 1
Xy ¥, 1

OR

Area of A ABC = ;— X,(Y,7Y.) + %, (y,7y)) + X,(y,-v.)

. Tip-2

. One can try to remember. some standard determinants to solve question. faster that.
. uses then. After solving many problems thése things start to automatically’
. register ‘'in mind. ’ ’ ’ ’ ’ ’ ’

. **'I;IP**.

" PRACTICE. PRACTICE. PRACTICE.-
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-Differentiation of Determinants
i) g, (z)
f@)  g,(x)
: are functions of x. Then,

fo@) g @)
L) g

: Let A(z) = where f (), f,(z),g,(x) and g,(x)

fi@) g @) |
L@ gy

L@ g

. Also, A'(z) =
@) g, ()

Af(z) =

-(B:) .

- Integration of Determinants
CIf f(x), g(x) and h(x) are functions of x and a, b, ¢, a, B and y are constants
" such that

: then the integral of the determinants is given by i.e.
. [ f(z)dx Jg(z)dz Jh(x)d
- JA(@)dz = a b ¢
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IMPORTANT DETERMINANTS
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a b c|=(a-b)b-c){c—a)

bc ca ab
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a® b®* ¢

={a—b)lb—c)(c—a){a+b+c]
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a’ b* c?|={(a—b)(b—c)(c—a){ab+bc+ca)

a> b?
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a b c|=(a-b){b-c)ic—-a)(a’+b’+c’ —ab—bc—ca)
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